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YUV -NEXTE mm 6-118%x 115
REESE cc ! 6 — 7545
T B KW/min ' ( ps/rpm ) | 150,/2700 (204,/2700)

BRAMLVY /EEH

Nem/min ' (kgf-m/rpm)

6861600 (70,1600)

nE =
HHEE kg 6500
HHEE kg 9400 -
| ZeE B ; 16.6 (0.17)
14 4 ; kpa (kgf/cm?)
L) g E R | pa (kgf/cm?) | 58.3 (0.29)
B
;'&I-AWE : U_]%Z} ma 4'0
== B2t 2.4
o 2 160
L~ 69
£ &him 2
F 2 %#% | 95
2 B | 20
TUSUFAIN | FAISY | ) ! 16
FANT 45 FOM 4
IV UOHK 13.0
EIp, : )
B HK & B8 235
WEITERE)
ETEEHAAX - HST
EEHR - BENEIT2:E. 1EHERFHFSE
%R - ‘ 2 (BE. E®)
#1875 =t - HSTTL—F+/—% 25 TL—%
HST®REE N ' MPa (kgf/cr) | 34.3 (350)




T

N T in

2970

1270
i 8390

] ]

e

=
Sl
2500

2320

('L

LA
0

o &

O 1O

I
0 [ TkH
2200

5300

3100

O

© =

(O (3]

A o
S o ™
Q ®| ©
N @ ©

/ @
|

. o

o 2 '%m )
- o, —T 7 P

N @ = T _'_v‘.,

N YES Yan Y

Nl Nl NN Nl TN




T & X 4 F <t ik (£ + THHEE)

=
ik

j
A
2200

1

b
2970
1250 5300
; 850 3100
i
!}/l
i
B =
0 a o
(@]
o o ™
O O ©
Jimx E\_I S_\l_e—
2500
4590
2320
0
? 3
[___IL__._IL__H___]q ©
v U N o
Biane.h 2
700 700

1800




